
qm= ;+= of]hgfsf] gfd :yfg÷&]ufgf ljlgof]hg /sd ?=
s

1 bfªl;·f j+u'/ kmf/d lj:tf/ tyf ;'wf/ of]hgf j*f g+= 6, oD#f 100000.00
2 df}/Luf]nf k|bfg tyf tflnd sfo{qmd j*f g+= 6, oD#f 112500.00
3 gjo'u s[ifs ;d"x Knfli^s ^g]n cg'bfg j*f g+= 6, oD#f 50000.00
4 j*f g+= 6, oD#f
5 j*f g+= 6, oD#f

hDdf M 262500.00
v

1 bk'{s ;f+:s[lts xn lgdf{)f j*f g+= 6, oD#f 500000.00
2 e' '̂s] lnk\m^ vf= kf=, tNnf] e'^'s] vf]N^]kfgL vf=kf=of]hgf j*f g+= 6, oD#f 400000.00
3 u'“uf df= lj= kvf{n lgdf{)f j*f g+= 6, oD#f 100000.00
4 db|fg vf= kf= of]hgf j*f g+= 6, oD#f 150000.00

5

c/lgsf] cfwf/e"t ljBfno #]/faf/ / eujtL cfwf/e"t ljBfno 

k|f·)f ;'wf/ of]hgf j*f g+= 6, oD#f 150000.00
6 u'“uf lnk\m^ vf= kf= / df}/] vf= kf= dd{t j*f g+= 6, oD#f 150000.00
7 h's]vf]nf d/leQf %]n'·f vf= kf= dd{t of]hgf j*f g+= 6, oD#f 100000.00
8 lr;fvf]nf^f/L vf=kf= dd{t / jrf·bL /]n] ltDn] ln= vf=kf= 100000.00

cf}ifwL pks/)f / kmlg{r/ vl/b of]hgf 150000.00
hDdf M” 1800000.00

u
1 ^f]S;] db|fg df]^/ af^f] :Q/f]GgtL j*f g+= 6, oD#f 1000000.00

2

l/ª/f]*, zfvf af^f] dd{t ;'wf/ / eujtL cf= lj= hf]*\g] af^f] 

lgdf{)f of]hgf . j*f g+= 6, oD#f 500000.00
3 oD#f dlxnf ejg lgdf{)f / l;tf df= lj= #]/faf/ j*f g+= 6, oD#f 500000.00

4

&"nfkf]v/f”j'(f#/”lkkn^f]nf”hf]t]{cf“k”uf]xbL”^f]S;]” sf]n]ª”l;tf df=lj= 
hf]*\g] df]^/ af^f] j*f g+= 6, oD#f 450000.00

5 cNsf lrnfpg]”%]n'·f”uf]xbL / d]p%fk ldhf/] df]=af= of]= j*f g+= 6, oD#f 250000.00
6 kmf“^ df]= af= / ;f]/fxf uf]/]^f] af^f] dd{t of]hgf j*f g+= 6, oD#f 100000.00

hDdf M” 2800000.00
#
1 j*f g+= 6, oD#f
2 j*f g+= 6, oD#f

hDdf M 0.00
ª
1 OG^/g]^ h*fg, k+lhs/)f Aoj:yfkg / sfof{no Aoj:yfkg 200000.00

jftfj/)f tyf ljkb\ Aoj:yfkg If]q tk{m M

;+:yfut ljsf; tyf ;]jf k|jfx / ;'zf;g If]q tk{m M

augf;sfnL ufp“kflnsf
6 g+= j*f sfof{no, oD#f, kfNkf

cf= j= 074÷75 sf nflu j*f e]nfaf^ kfl/t eO{ ufp“ sfo{kflnsfdf k]z ePsf of]hgf÷sfo{qmdx?

cfly{s ljsf; If]q tk{m M

;fdflhs ljsf; If]q tk{m M

k"jf{wf/ ljsf; If]q tk{m M



r
1 dlxnf” dlxnf hfu/)f sfo{qmd tyf cfod"ns tflnd j*f g+= 6, oD#f 75000.00

2

afnjflnsf” jfnHof]lt k|f= lj= dd{t ?= 50,000.”                                                                                                 

jfnd}qL sfo{qmd                    ?= 25,000.”                              j*f g+= 6, oD#f 75000.00

3 cfbLjf;L÷hghftL” af] ]̂ efiff tyf ;f+:s[lts sfo{qmd ;+rfng j*f g+= 6, oD#f 37500.00
4 ckf· ” ckf· cf}ifwL pkrf/ ;xof]u j*f g+= 6, oD#f 37500.00

5

blnt ” bf·l;·f blnt cfdf ;d"x Ifdtf ljsf; tyf 

;zlQms/)f sfo{qmd j*f g+= 6, oD#f 37500.00
6 h]i&gful/s ”  h]i&gful/s ;Ddfg sfo{qmd j*f g+= 6, oD#f 37500.00

hDdf M” 300000.00
ufp“kflnsfdf dfu ug]{ of]hgfx? M

1 df}n]eGHof· ”bk'{s df]= af= :Q/f]GgtL
2 ^f]S;] db|fg df]^/ af^f] :Q/f]GgtL
3 ^f“/L l;+rfO{ s'nf] dd{t
4 /]n] l^Dn] lnk\m^ vf= kf= of]hgf
5 #'n'{·bL lnk\m^ vf= kf=
6 l/AbL vf= kf= of]hgf
7 &"Nkf]v/f dlxnf ejg
8 bf·l;·f j+u'/ kmf/fd
9 ^f]sNbL r'sfxf ldhf/] df]^/ af^f]
10 hghftL ;+:s[lt ;+/If)f sfo{qmd / jf]^] ;+:s[lt ;+/If)f
11 dlxnf ejg e'^'s] nfDbL of]hgf
12 u'+ufeGHof· cfdf ;d"x afv|f kfng sfo{qmd

s]Gb|df dfu ug]{ of]hgfx?
1 ^f]S;] db|fg df]^/ af^f] :Q/f]GgtL
2 df}n]eGHof· ”bk'{s df]= af= :Q/f]GgtL
3 /]n] l^Dn] lnk\m^ vf= kf= of]hgf
4 #'n'{·bL vf= kf= of]hgf
5 ly|k]mh ljB't lj:tf/
6 bk'{skmf“^, ^f/Lkmf“^, db|fgkmf“^ l;+rfO{ of]hgf
7 ^]q]m vfg]kfgL dd{t
8 jf]^] ;+:s[lt ;+/If)f sfo{qmd
9 ^f]sNbL, sfnLgu/L, r'sfxf, ldhf/] df]= af=

cGo -nlIft ju{_ M” 



s}lkmot




